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1. Find out the correct statement

I. Pills prevents ovulation of contraception technique

II. Copper-T prevents implantation

[1I. Vasectomy produces semen containing no sperm

a) land Il b) Il and III c) Iand III d) I, [T and III

2. Ist, 2nd, 3rd dose of DPT is given by

I. 6 weeks after birth

II. 10 weeks after birth

II1. 14 weeks after birth

IV. 24 weeKks after birth

V. 29 weeks after birth

a) [, Il and IV b) III, IVand V c) I, [T and III d) V,Iand I

3. Which hormone of the female body is suppressed by the oral contraceptive pills?
a) FSH b) Inhibit c) Progesterone d) Testosterone

4. Growth curve is normally:
a) J-shaped b) V-shaped c) S-shaped d) C-shaped

5. Which one of the following statements is incorrect about menstruation?
a) At menopause in the female, there is especially abrupt increase in gonadotropic hormones
b) The beginning of the cycle of menstruation is called menarche
¢) During normal menstruction about 40 ml blood is lost
d) The menstrual fluid can easily clot

6. Which of the following birth control measures can be considered as the safest?
a) The rhythm method b) The use of physical barriers
¢) Termination of unwanted pregnancy d) Sterilization techniques

7.  Sterilization method used in human beings is/are called
a) Vasectomy b) Tubectomy c) Both (a) and (b) d) None of the above

8. The first case of IVF-ET techniques success, was reported by:
a) Bayliss and Starling Taylor b) Robert Steptoe and Gilbert Brown
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11.
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13.

14.

15.
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17.

18.

19.
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c) Louis Joy Brown and Banting best d) Patrick Steptoe and Robert Edwards

Spermicidal cream used on the coating of condoms, diaphragms, cervical cap and vaults are

a) For lubrication b) For shining

c) For increasing effectiveness d) None of the above

NMEP stands for

a) National Measal Eradication Programme b) National Mumps Eradication Programme
c) National Malaria Eradication Programme d) None of the above

Example of the non-medicated IUD is
a) Cu-T b) Cu-7 c) Multiload-375 d) Lippes loop

A national level approach to build up a reproductively healthy society was taken up in our country in:
a) 1950s b) 1960s c) 1980s d) 1990s

Condition in which motility remains very less is
a) Azospermia b) Polyspermia c) Oligospermia d) Asthenospermia

Diaphragms, cervical caps and vaults are
a) Are non-usable b) For female use only
c) For male use only d) None of these

Detection technique for AIDS is
a) PCR b) ELISA c) Both (b) and (c) d) Clinical culture

In delaying pregnancy or spacing among children, the ideal contraceptive is
a) IUD b) Natural method c) Oral contraceptive d) Pills

Reproductive health is the well-being of
a) Physical aspects b) Emotional and behavioural aspects
c) Social aspects d) All of the above

In female sterilization ...A... is cut and tied. This process is called ....B....

Fill correct option for A and B

a) A-cervix; B-vasectomy b) A-Fallopian tube; B-tubectomy
c) A-cervix; B-tubectomy d) A-Fallopian tube; B-vasectomy

Which of the following is most convincing reason for increase population growth in a country?
a) High birth rate b) Low mortality rate
c) Low population of old people d) High population of young children

Difference between ZIFT and IUT lies in the



a) Methodology b) Nature of the sperms
c) Nature of the cells d) Number of the cells



